.
assists your "thinking" kxSt v



assists your "thinking" kxSt v



.
assists your "thinking" kxSt v



assists your "thinking" kxSt v



assists your "thinking" EisSda A0



assists your "thinking" wisa A7)



My
n-
i

assists your "thinking" wX=# A7 v



E———————

assists your "thinking" wX=# A7 v



My
I
i

assists your "thinking" EiSa)AHILV7v)



20kV

X3,000

5um

10 50 BEC

20kV

X3,000

5um

10 50 BEC

20kV

3,000

S5pm

10 50 BEC

20kV _

X3,000

5um

10 50 BEC

assists your "thinking"

wS# AT v)



Opm 60s 60s 60s 60s

(3pam 90s 90s 90s 90s

N: lpam 60s 60s 60s 60s
C S+ 5s+ b5s 5s+ b5s — —
C S 5s+ b5s — — —
C U — 20s+ 10s — —

N S+ — — — 5s+  5S
S — — — 40s+ 10s

— — 50s+ 10s —

e ————————————————
wS# AT v)

assists your "thinking"



.
assists your "thinking" kxSt v



9pm 60s 60s 60s 60s

(Bpam 90s 90s 90s 90s

N 1pam 60s 60s 60s
N U 50+ 10s 50+ 10s

N 1pam 30s

assists your "thinking"

wS# AT v)









.
assists your "thinking" kxSt v



SiC

<
>
J
9pm )
(3pam

>

N 1pam
N U J

assists your "thinking" wisa A7)



SiC

assists your "thinking" st A7 v)



rpm rpm
Sic #400 < Sic #400 o
Sic #800 o Sic #3800 o

Sic #2000 o Sic #2000 o

assists your "thinking" St AL v)



.
assists your "thinking" kxSt v



am

assists your "thinking" KRS=#H ATV



20kV  X1,000 10pm 20kV  X2,000 10pm

assists your "thinking" wX=# A7 v



1

+|:|'

e S M M e s Mt M — — -

assists your "thinking" EXS A7)



.
assists your "thinking" kxSt v



assists your "thinking" wnisSa )7l



assists your "thinking" wX=# A7 v




